
08-06-2025

Liberty Folding Back Cross Brace 

For Non-Folding Cross Brace hardware for a Liberty Folding Frame, see Liberty Non-Folding Cross Brace page.
 

Item Number Part Number Description Quantity
1, 2, 10, 12,
13, 15 506656 Fold Lever Assembly with Instruction 1

1, 2, 3a, 4a, 5-
17 110083 Cross Brace Assembly, Back, Small, 14W with

Instruction 1

Used on 14 - 15" wide with folding frame. Has the ability to
achieve all small width range setttings (14 " - 18").

1, 2, 3a, 4a, 5-
17 110084 Cross Brace Assembly, Back, Small, 16W with

Instruction 1

Used on 16 - 18" wide with a small width range and folding
frame

1, 2, 3b, 4b, 5-
17 110085 Cross Brace Assembly, Back, Medium, 16W with

Instruction 1

Used on 16 - 17" wide with medium width range and folding
frame. Has the ability to achieve all medium width range
settings (16" - 20").

1, 2, 3b, 4b, 5-
17 110086 Cross Brace Assembly, Back, Medium, 18W with

Instruction 1

Used on 18 - 20" wide with medium width range and folding
frame

1, 2, 3c, 4c, 5-
17 110087 Cross Brace Assembly, Back, Large, 18W with

Instruction 1



08-06-2025

Item Number Part Number Description Quantity
Used on 18 - 19" wide with large width range and folding
frame. Has the ability to achieve all large width range
settings (18" - 22").

1, 2, 3c, 4c, 5-
17 110088 Cross Brace Assembly, Back, Large, 20W with

Instruction 1

Used on 20 - 22" wide with large width range and folding
frame

1, 2, 3a, 4a, 5-
19 506142 Cross Brace Kit, Back, Folding, Small 1

1, 2, 3b, 4b, 5-
19 506143 Cross Brace Kit, Back, Folding, Medium 1

1, 2, 3c, 4c, 5-
19 506144 Cross Brace Kit, Back, Folding, Large 1

3a, 4a, 5, 9,
18, 19 110095 Cross Brace Kit, Back, Non-Folding, Small 1

3b, 4b, 5, 9,
18, 19 110096 Cross Brace Kit, Back, Non-Folding, Medium 1

3c, 4c, 5, 9, 18,
19 110097 Cross Brace Kit, Back, Non-Folding, Large 1

3a, 4a, 5, 9 110089 Cross Brace Assembly, Back, Non-Folding,
Small, 14W with Instruction 1

Used on 14 - 15" wide with non-folding frame. Has the
ability to achieve all small width range setttings (14 " - 18").
Includes non-folding frame hardware.

3a, 4a, 5, 9 110090 Cross Brace Assembly, Back, Non-Folding,
Small, 16W with Instruction 1

Used on 16 - 18" wide with a small width range and non-
folding frame. Includes non-folding frame hardware.

3b, 4b, 5, 9 110091 Cross Brace Assembly, Back, Non-Folding,
Medium, 16W with Instruction 1

Used on 16 - 17" wide with medium width range and non-
folding frame. Has the ability to achieve all medium width
range settings (16" - 20"). Includes non-folding frame
hardware.

3b, 4b, 5, 9 110092 Cross Brace Assembly, Back, Non-Folding,
Medium, 18W with Instruction 1

Used on 18 - 20" wide with medium width range and non-
folding frame. Includes non-folding frame hardware.

3c, 4c, 5, 9 110093 Cross Brace Assembly, Back, Non-Folding,
Large, 18W with Instruction 1

Used on 18 - 19" wide with large width range and non-
folding frame. Has the ability to achieve all large width
range settings (18" - 22"). Includes non-folding frame
hardware.

3c, 4c, 5, 9 110094 Cross Brace Assembly, Back, Non-Folding,
Large, 20W with Instruction 1

Used on 20 - 22" wide with large width range and non-
folding frame. Includes non-folding frame hardware.

1 506655 Fold Lever with Instruction 1

Not included with Non-folding frame

2 003267 Spring, Latch 1

Not included with Non-folding frame

5 003326 Pivot Pad, Backrest 2

6, 8 506313 Back Cross Brace Handle and Mount 1



08-06-2025

Item Number Part Number Description Quantity
Not included with Non-folding frame

7 003437 Spacer, .430ODx.242IDx.200L 1

Not included with Non-folding frame

8 003433 Handle Assembly, Liberty 1

Not included with Non-folding frame

9 003666 Bearing, Flg, 6mm ID x 12mm Lg 4

10 003683 Spacer, .350ODx.201IDx.520L 1

Not included with Non-folding frame

11 100558 M6 Nyl Ins Domed Cap L/N Zc 1

Not included with Non-folding frame

12 100657 M5 Nylock Nut Blk Zn 1

Not included with Non-folding frame

13 101117 M5 x 22 BTN SHCS BLK ZC 1

Not included with Non-folding frame

14 101853 M6 Washer Blk Zn 1

Not included with Non-folding frame

15 103022 M5 Washer, Blk Zn 1

Not included with Non-folding frame

16 103024 Washer, Nylon, .428IDx.625ODx.031T 2

Not included with Non-folding frame

17 103141 M6 x 55 BHCS, Shldr, BLK Zn 1

Not included with Non-folding frame

18 103028 M6 x 70 HHCS, Shldr, Blk Zn 2

19 102803 Washer Flat .250 X .500 X .027 Hx Blz 4


